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~?ff~JlBU : 51ij5$f4~W$~Wf~?ff 
~~14§ = 51ij5$~m~ ~~am= 0222. &n~ = 3 

* ~~~5.1g = *~~::fPJ~m~t•~ 0 g~~~~;ffic---F-)11=~ · ~*~~~I£.L1t~~, :~G-r~t7t 0 
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2. i~if~~ t-t ft.1·~ ~1t.~Jt tt.p:JJ i5 . a~ 'f~£-t-k ~~itt if~ 4ttAtr.J~·tlH± 0 l!k ~ ~ ~ n~ 

t_l:. 41H'i • PIT l-A a 1rJ ~itt if ~ 4l A tA M. ·tl •ti. ? (16%) 

3. (25%)~ n~ i~5frt 

(a) ittlftt t/.J.i{fh 1:. -1-k ~ ~ JJ~ .J!.I:.~fh}] • 3F.. ~~ ~ ~~ o (10%) 

(b) 1t 7•1 *1~ PIT ~o l! tA itt if jf: ~ 5frt (boundary current) 3t tt ~PIT 1±.1.:1'L I ( ~ y 3 1~ ) o (15%) 
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(a) 1t ~ >3•J ~ ~ J:.liii 7]( ifri. a!J ;t j, o (15%) . 
(b) -!4 *if ~tit .t .t :to tUJ tt.J k 1or ~ 7]( mt ? ~ 1or ? (7%) 
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